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1

The main function of a fuse is to -
(A) Protect the line

(B) Open the circuit

(C) Protect the appliance

(D) Prevent excessive currents
(E) Question not attempted
TS H I B 1§ 7

(A) ET ®l g

(B) wfhe &t @

(C) SYBIOT B AT

(D) aifie &R Bl BT

(E) organa wed

Direction of rotation of motor is determined
by

(A) Faraday’s law

(B) Lenz’s law

(C) Coulomb’s law

(D) Fleming’s left-hand rule

(E) Question not attempted

AT % U @l faem

(A) HT= % Fram

(B) w % frem

(C) e & fram

(D) T % S T & Frm
(E) orana wed

ARSI A R

AC generator converts -

(A) Mechanical energy to electrical energy
(B) Electrical energy to mechanical energy
(C) Heat energy to mechanical energy

(D) Light energy to heat energy

(E) Question not attempted

THL T ¥ gf@faa & 2
(A) @ifs Soit @ faegga e

(B) fera S=it @l gt FHell

(C) o &St &I it ol

(D) WeIST ol bl ST ol

(E) erara gsd

Two resistors of RQ and 20 are
connected in parallel to get an effective
resistance of 15 €2. Find R.

(A) 5.5Q
(B) 50Q
(©) 30Q
(D) 60Q
(E) Question not attempted

R Q 3Rk 20 Q & 3 el &l qaidy %4

¥ sirer wimar & @i 15 Q @1 geE gy urd
fepar = g1 R 3@ v

(A) 5.5Q
(B) 500
(€) 300
(D) 60Q
(E) emara gsd

SPACE FOR ROUGH WORK / T% &% & foq sTTe
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In a conductor, if 6-coulomb charge flows
for 2 seconds, then the value of electric
current will be -

(A) 3 amperes

(B) 3 volts

(C) 2 amperes

(D) 2 volts

(E) Question not attempted

THh OdE H, AG 6-Fad A 2 s & Mg
yaTed eI ¢, Al fOEd 9 & AW @ B ?
(A) 3 uhgax

(B) 3 die

(C) 2 uhgax

(D) 2 9

(E) emgara gsd

When 5Q,10Q and 15 resistors are

connected in series with a 12V voltage
source, what is the value of voltage across

resistor 5Q?

(A) 12V

B) 21V

) 15V

D) 2V

(E) Question not attempted

¥ 5Q,10Q X 15Q % yfadiga & 12V
qieest & 1Y IO HH H el o 5, A 5 Q
gfadrge o aeest &1 fbaT A ghm ?

(A) 12V

B) 21V

(C) 15V

D) 2V

(E) orana wed

What is the power consumed by a bulb when
it is applied 220 V and current flowing
through it is 2.2 A?

(A) 422 W

(B) 0.484 kW

(C) 100 W

(D) 0.422 MW

(E) Question not attempted

TS Uk g § 220 V @] fopar s # ofv ze
yaTEd T 2.2 A%, @ Tl  guq @ g ¢
(A) 422 W

(B) 0.484 kW

(C) 100 W

(D) 0.422 MW

(E) ergara gsd

Who got ‘Adinath temple’ at Dilwara built?
(A) Chandragupta Maurya

(B) Maharana Kumbha

(C) Vimal Shah

(D) Mandan

(E) Question not attempted

st Rua ‘enfemy w@Rw @ Feta feaw
HIITT ¢

(A) TEId O

(B) weTaem fwn

(C) fowa st

(D) #Husd

(E) orana wed
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9

10

Golden enamelling and Munavwati art on
Camel skin is known as

(A) Enamelling

(B) Thewa Art

(C) Usta Art

(D) Lacquer Art

(E) Question not attempted

2 B WA IT W@ AR 3T el el
H % I ¥ S S 5

(A) "B
(B) gar &ern
(C) I& el
(D) @@ e

(E) organa wed

Who among the following is credited with
discovering Palaeolithic Age tools from
Jalore?

(A) V. S. Shinde

(B) Vijay Kumar

(C) B. Allchin

(D) Virendranath Mishra
(E) Question not attempted

AR & Yd—UTIIOTBIAT SUB0T @e B 9
fra o & f5er 7

(A) & w. =
(B) fevra AR
(C) . enfem
(D) dresemy fysm
(E) orana wed

11

12

‘Mavath’ in Rajasthan is associated with —
(A) South Western Monsoon
(B) Western disturbances
(C) North East Monsoon
(D) Tropical Cyclones

(E) Question not attempted
TR AIge’ geted & -
(A) <fEor wfyadr A o

(B) v faest @

(C) wwll gel wr &

(D) SwrmicEd™ Thardl 9
(E) erara gsd

In the year 2023, the second highest actual
area under the “Reserved Forest” category,
was reported in the district of
Rajasthan.

(A) Chittorgarh

(B) Udaipur

(C) Alwar

(D) Bundi

(E) Question not attempted

Ty 2023 ®, TORA % ol o o
T’ ol & Ila fEdg Sifihaw aTadfae &S
frare fepar mar em

(A) TireTe
(B) sEagX

(C) &@e

(D) &

(E) emara gsd
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14

Khetri mines in Rajasthan are the major
producer of which one of the following?

(A) Copper

(B) Bauxite

(C) Tron ore

(D) Mica

(E) Question not attempted
o H Eds! WM e A § fedal wg@
SATEH ¢ 7

(A) dien

(B) dwEe

(C) @ oTwh

(D) @1y

(E) emgara gsd

Who inaugurated United Rajasthan on April
18, 1948 A.D.?

(A) Vallabhbhai Patel

(B) Rajagopalachari

(C) Jawaharlal Nehru

(D) V. P. Menon

(E) Question not attempted
18 a@ 1948 3. &I €& TSRAM & 3T
fopem feparr ?

(A) TEAHHE T

(B) rTTTeTET

(C) wamEE™ w86

(D) 4. 9. 7

(E) emara gsd

15 Match the Ornament in Column I with Body

Part in Column 11I.

Column I Column 11
(Ornament) (Body Part)
1. Folari a. Head
2. Memand b. Ear

3. Panchladi c. Leg

4.  Surliya d. Neck

Choose the most appropriate option from
below:

(A) 1-d, 2-c, 3-b, 4-a

(B) 1-b, 2-c, 3-a, 4-d

(C) 1-a, 2-b, 3-d, 4-c

(D) 1-c, 2-a, 3-d, 4-b

(E) Question not attempted

i I H orouer ol @tem 11 H s of1 | frams
HITT |

acul| e 11
(o) (arre i)
1. wwd a. T
2. W\ b. @&
3. Ug@el c. W

4. gIfaan d. Tmem
= 4 @ 9oy Suge famed g

(A) 1-d, 2-c, 3-b, 4-a
(B) 1-b, 2-c, 3-a, 4-d
(C) 1-a, 2-b, 3-d, 4-c
(D) 1-c, 2-a, 3-d, 4-b

(E) emara gsd
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17

Janki Devi Bajaj was associated with which
Prajamandal?

(A)
(B)
©
(D)
(E)
Sen! <Al SoTTl o yoied § deraq o ?
(A) $RYT FoFsa
(B) EgR worew
(C) "AYR weirsd
(D) 3refeR ysiHsd

(E) ergara gsd

Dungarpur Prajamandal
Jaipur Prajamandal
Bharatpur Prajamandal
Alwar Prajamandal

Question not attempted

Which folk deity is famous as ‘Ramsa Pir’ in
the Muslim society?

(A) Mallinathji
(B)
©)
D)
(E)

qied TS o T 9 % ®9 F B ° @b
TaT UE 27

(A) HiewwTesi
(B) T STahsll
(C) THITs
(D) drgsi

(E) orana wed

Ram Janakji
Ramdevji
Pabuji

Question not attempted

18

19

A single phase transformer has a maximum
efficiency of 90% at full load and unity power
factor. Efficiency at half load at the same
power factor is -

(A) 86.7%

(B) 88.26%

(C) 88.9%

(D) 87.8%

(E) Question not attempted

T WX 37X Tehdh STieRd 0T UK Uohdl st ZIAhIFT
@ stfsad seadr 90% 2| THE QTR U 9
o W U 3HD! qE w1 B ?

(A) 86.7%

(B) 88.26%

(C) 88.9%

(D) 87.8%

(E) ergara gsd

A 4 pole lap wound D.C. generator has a
developed power of P watts and voltage of E
volts. Two adjacent brushes of the machine
are removed as they are worn out. If the
machine operates with the remaining brushes,
the developed voltage and power that can be
obtained from the machine are -

(A) E, P

(B) E, P2

(C) E, P/4

(D) E/2, P2

(E) Question not attempted

Th 4 OF @9 988 LA Tl H P 9 @
faefaa ofed 8iX E diee &1 aieest &1 At &
3y el 991 721 iU oI ¥ it 3 o o
21 afe wsfm Tt wia1 & Ay denfed e g,
A B R aees 8fR UrE I BT 7
(A) E, P

(B) E, P2

(C) E, P/4

(D) E/2, P2

(E) erara gsd
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21

Circuit breakers usually operate under -
(A)
(B)

Transient state of short-circuit current

Sub-transient state of short-circuit
current

©
(D)
(E)
Tfthe AT THI:
.

(A) TS " amT o7 afvrs arewen
(B) ¢ @fhe &1 BT SUERE ST
(C) «tie wfpe amr & Rex erawen
(D) 8. g<h ¥ BN P 918

(E) emgara gsd

Steady state of short-circuit current
After D.C. component has ceased

Question not attempted

% el & s

In view of cost and safety, the outdoor
substations are constructed for voltages
above-

(A) 11 kV

(B) 33 kV

(C) 60 kV

(D) 110 kV

(E) Question not attempted

A ofR gREm @ e ¥ Tl dERIE @Bl
% FUW & dieest & g T fear

ST

(A) 11 kV

(B) 33 kV

(C) 60 kV

(D) 110 kV

(E) orana wed

22

23

Which load is to be given separate lines as
essential in commercial wiring?

(A)
(B)
©)
(D)
(E)
EHIS JEreT o fbT 9Rl & e @B 9
e ST =R ?

(A) Hifeat ik T

(B) @St SR diféamt

(C) T dffhT &

(D) fowe & syl

(E) ergara ged

Staircase and garden
Verandah and portico
Common walking area
Lift and water supply

Question not attempted

Radiant efficiency of the luminous source
depends on :

(A)
(B)
©)
(D)
(E)
TR AT BT AT qeTa fohe o T et § 7
(A) &d % MHR W

(B) € &% d9HM WX

(C) ety fepeon & ameed W

(D) T T W

(E) erara gsd

Shape of the source
Temperature of the source
Wavelength of light rays
All of these

Question not attempted

SPACE FOR ROUGH WORK / T% &% & foq sTTe
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25

Which of the following districts in Rajasthan
has its border with district Karauli? (Choose
the most appropriate option from below)

(A)
(B)
©)
(D)
(E) Question not attempted

frrfafed & § (oI &1 SF-—a1 far sl
et o a1 g wEar 2 ¢ (R o o w99 suge
e g)

(A) <

(B) <®

(C) Freat

(D) @it

(E) ergara gsd

Dausa
Tonk
Alwar
Kota

Which one of the following dams is not
related with Chambal Project?

(A) Gandhi Sagar
(B) Kota Barage
©)
D)
(E) Question not attempted

frfafed & ¥ @F-a1 9y TEa aREsE |9
Heiftrg e 2 7

(A) e "R

(B) @ O

(C) waEt 9

(D) di Sty

(E) erara gsd

Jawahar Sagar

Pong Dam

26

27

Which one of the following is in Rajasthan?
(A) Chilka lake

(B) Sunderbans National Park

(C) Keoladeo National Park

(D) Renuka lake

(E) Question not attempted
frffag & § &Y T o™ ® &7
(A) Taer e

(B) g=ET U™ 3T

(C) HadRa TR I&H

(D) T e

(E) organa wed

Nal Airport is situated in —
(A) Jaipur

(B) Bharatpur

(C) Bikaner

(D) Jodhpur

(E) Question not attempted
T TR Rua & -

(A) v J

(B) weage &

(C) drT o

(D) wirergx 3

(E) orgaia 9ed
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29

Which of the following districts are located
in the “Vagad region” of Rajasthan? (Choose
the most appropriate option from below)

(A)
(B)
©)
(D)
(E) Question not attempted

frafafed & ¥ a9-d 0 ToE & 9rTs
g’ | Rug €7 (= o 9 o9 Sugw faaed
)

(A) TR T EFAFTE

(B) Rl et sy

(C) Wi e wherge

(D) $RYT T FrEarst

(E) emgara gsd

Ganganagar and Hanumangarh
Sirohi and Udaipur
Pali and Jodhpur

Dungarpur and Banswara

Which river does not form the trianagular
plain in Kota? (Choose the most appropriate
option from below)

(A) Chambal

(B) Kalisindh

(C) Parvati

(D) Mej

(E) Question not attempted
BT ¥ e AaM B T4 TE A ¥ 7
(Fr=1 % & 999 SugH faoed g+)
(A) ==

(B) @ity

(C) urdit

(D) =t

(E) orana wed

30

31

What will be the effect on voltage level of
earth mat when earth fault occurs?

(A) Voltage level at the earth mat increases
due to earthing.

(B) Voltage level at the earth mat decreases
due to earthing.

©)

Voltage level at the earth mat remains

zero due to earthing.
(D) None of these
(E) Question not attempted

S OIS Y Bl B, A o1 #e % st wad
T T YT B 7

(A) @& & BRO &7 e W AiRS dad §%
ST

¥ & @ et fT X gl wad ue
T

STTERT % I o7 A2 WX S Wad
& B

(D) T ¥ B T
(E) orana wed

(B)

©)

Which among these is a method of wiring?
(A)
(B)
©)

Joint box

Tee system

Loop in system

(D) AIll of these

(E) Question not attempted
T W DT AEAET B qdaT § 7
(A) wiige S

(B) 3 fawew

(C) qu 3 faeen

(D) ¥ |

(E) orana wed
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32

33

Batteries are generally connected in
to increase voltage level.

(A) Series

(B) Parallel

(C) Either series or parallel
(D) Neither series nor parallel

(E) Question not attempted

el &b WL Bl 9GM b Y 9 Bl A
A wirer Wi |

(A) gt |

(B) @@

(C) =1 ar goft ar g

(D) = o &k 7 & |Hiax

(E) organa wed

A workplace injury that results in an employee
missing time from work is -

(A)
B)
©)
D)
(E)

HAWE I @ 9l TS 9 &1 hEddl §
e T HHAT B B U TR AT gsdar P

(A) HFEESIT qle
(B) =agmstta ST
(C) die—<rEH ar
(D) it Wiqay @i
(E) omara gsd

Occupational injury
Occupational illness
Lost-time injury

Workers compensation injury

Question not attempted

34

35

Which of the following is not a hand tool?
(A) Hammer

(B) Computer

(C) Screwdriver

(D) Wrench

(E) Question not attempted

Frrfafied & o SF-91 Ue saanad I el § 7
(A) T

(B) &=

(C) wpsEN

(D) @

(E) organa wed

The starting resistance of a D.C. shunt motor
is generally

(A) Low

(B) Around 0.5kQ
(C) Around 5kQ

(D) Infinitely large

(E) Question not attempted

AL 9T HieT &1 afYs gfaay ge=a:
g B

(A) ®H

(B) @ 0.5 kQ
(C) w9 5kQ

(D) o+a &9 § it
(E) orgafa wed
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37

38

One lumen per square meter is the same as

One lux
(B) One candela
(C) One foot candle
(D) One lumen meter
(E) Question not attempted
TH T U A AR
(A) TH @
(B) TH Heam
(C) ™ %2 Hsd
(D) TH qAT HIeX
(E) omgania wed

The reason of lamp glowing dim and motor
running slow in a domestic wiring circuit is-
(A) Open circuit in the neutral line

(B) Short circuit between conductors

(C) High value series resistance fault

(D) Open circuit in the earth conductor
(E) Question not attempted

T AT |ithe § ged % 4 Se 3iR AT
% 4 I d FbT BT &7

(A) —gga @3 § U+ |

(B) ar@®l & &/ 9T dihe

(C) ST@ AF JUihH Yy a

(D) q-ams ¥ aifus e

(E) orgaia 9ed

A light emitting diode is
(A) Heavily doped

(B) Lightly doped

(C) Intrinsic semiconductor
(D) Zener diode

(E) Question not attempted

YR IS SIS

(A) wa oifues Srafifya
(B) =gd ®¥ rafifya
(C) a1 arefureies

(D) SiFX s

(E) orana wed

(A)

% IO 2

BT B

39

40

Within how many days, an aggrieved person
can file an appeal to second Appellate
Authority against the decision of the first
Appellate Authority under Rajasthan
Guaranteed Delivery of Public Service Act,
20117

(A) 50 Days

(B) 60 Days

(C) 70 Days

(D) 75 Days

(E) Question not attempted

TSI @l ¥al TRl JeM aftafam, 2011 &
ST Yo STIg Wbt o ot & faes &g
e o it 7 fedia srdiera wiveerd & 9|
fireTerd @ weRaT B

(A) 50 fe=

(B) 60 f&=

(C) 70 f&=

(D) 75 f=

(E) organa wed

What is the first step in the election process
of local bodies taken by State Election
Commission?

(A) Announcement of election schedule
(B) Prepare, revise and update of electoral

rolls
(C) Counting of votes
(D)

Oath-taking ceremony of elected
(E)

members
Question not attempted

Ty frate o B e et @ gaE

UihaT § UEAT HEH HT B 7

(A) TG HRGBA B A6 HIAT

(B) waerl E dAR B, |l B oY
STEAT BEAT

(C) aref &t frma

(D) fraifaq @e@f &1 Uy Tev THARIE

(E) orana wed
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41

42

When did the State Government of Rajasthan
issue a notification for the constitution of the
State Commission in accordance with the
provisions of the Protection of Human Rights
Act, 1993?

(A) 18 January, 1999

(B) 20 March, 2000

(C) 23 May, 1998

(D) 22 April, 2001

(E) Question not attempted

IERYE T LA A qNd ATIHR FTET
stafad, 1993 % yragml & SFER Aoy SN
% T % AU SATURIET B SR di o ?

(A) 18 s=erdl, 1999
(B) 20 =m, 2000
(C) 23 5, 1998
(D) 22 &, 2001

(E) orana wed

Who was the first Chief Information
Commissioner of Rajasthan State?

(A)
B)
©
(D)
(E)
TR T &% I J&d Al oTgad & o ?
(A) & 3. Aifvemes

(B) &t TRME TS

(C) 4 Ta. 1. BRI

(D) i weq foE WA

(E) orana wed

Shri T. Shrinivasan

Shri Narayan Bareth

Shri M. D. Kaurani

Shri Laxman Singh Rathore

Question not attempted

43

44

There is a greater possibility of occurrence
of corona during

(A)
(B)
©)
(D)
(E)

Dry weather
Winter
Summer heat
Humid weather

Question not attempted
% S BT BN %l GH1ET STfed
T 2
(A) g6 e
(B) wfeat
(C) ifi
(D) THE A HrEd
(E) organa wed

What will happen with the increase in speed
of a DC motor?

(A)
(B)

Back emf increases but line current falls.

Back emf falls and line current
increases.

Back emf as well as line current
increase.

©)

Back emf as well as line current fall.

(D)
(E) Question not attempted

AL "X @ fa § ghe & Gy = wem e
(A) 1T 3UATH ¥ gha BRT Wik AR 9 B9
T S|

T9T SUAUW faee & SO i Wi e
7 ghe eril|

(C) UyT IUAT 3R WIET 910 a1 7 ghg 3|
(D) 9ya UATE 3T AIZH 9T <Ml BH & S|
(E) orana wed

(B)
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45  Alternator works on the principle of - 47 Match the Places in Column I with Temples

(A) Self and mutual induction in Column II.
(B) Self mutual induction Column I Column 11
(C) Faraday’s law of electromagnetic (Places) (Temples)
induction 1. Dhulev a. Dwarkadheesh Temple
(D) Mutual induction 2. Nathdwara b. Jagdish Temple
(E) Question not attempted 3. Udaipur c. Rishabhdeoji Temple
ST frad Roeid W B @ear &7 4. Kankroli d. Shreenathji Temple
(A) @ o g I Choose the most appropriate option from
below:
(B) = R I (A) 1-c, 2-d, 3-b, 4-a
(C) Torgageara o &1 % fram (B) 1-b, 2-a, 3-c, 4-d
(D) dre@fid g7 (C) 1-a, 2-c, 3-d, 4-b
(E) ergara gsd (D) 1-d, 2-b, 3-a, 4-c
(E) Question not attempted
46  Which fort of Rajasthan is called ‘Sonar Kila’ Few I o @ & wem I 7 w6t 8 frem
or Golden Fort? BT
(A) Gagron Fort @ 1 Fem 11
(B) Lohagarh Fort (ram) (wfR)
(C) Bikaner Fort 1. g@d a. ERGEY AT
(D) Jaisalmer Fort 2. UERT b. STEIST ghex
(E) Question not attempted 3. ISP C. HUHTST Afex
TR & fopd ot a0t A fopar am e+t wie 4. FHiHA d. ey afex
L I E 7 P 8 & wad e R i
(A) TS feoett (A) 1-c, 2-d, 3-b, 4-a
(B) wirerTg fepe (B) 1-b, 2-a, 3-c, 4-d
(C) drpmR fepar (C) 1-a, 2-c, 3-d, 4-b
(D) SrE@y fopar (D) 1-d, 2-b, 3-a, 4-c
(E) sgaf ued (E) orana wed
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48

49

Who was the Agent to the Governor General
(A.G.G) of Rajasthan at the time of the Revolt
of 1857 A.D.?

(A) Mac Masson

(B) Lord Morrison

(C) George Pattrick Lawrence
(D) J. D. Hall

(E) Question not attempted

1857 3. @t worf ® o™ H Wole T § MK
SR (TSNS @ ar?

(A) ¥ "Ed

(B) s mifEa
(C) st U @na
D) =. 9. &
(E) emgara gsd

The illumination level in houses is in the
range -

(A) 10 - 20 lumen/m?
(B) 30 - 50 lumen/m?
(C) 40 - 75 lumen/m?
(D) 100 - 140 lumen/m?
(E)
a0 A AIH & W BT U T Tl T 7
(A) 10 - 20 lumen/m?

(B) 30 - 50 lumen/m?

(C) 40 - 75 lumen/m?

(D) 100 - 140 lumen/m?

(E) orana wed

Question not attempted

50

51

What should be the band gap of the
semiconductors to be used in fabrication of
LED?

(A) 05¢eV

(B) 0.1 eV

(C) 15eV

(D) 1.8 eV

(E) Question not attempted

TSl & T § IuanT R W o erelarerent
¥ fpaen & A g e ?

(A) 0.5eV

(B) 0.1 eV

(C) 15eV

(D) 1.8 eV

(E) erara gsd

Identify the given symbol using electrical
wiring.

(A)
(B)
©)

Signal lamp

Rewireable fuse

Neutral link

(D) Circuit breaker

(E) Question not attempted

faga amafiT &1 IwE & A &g 1Y wdie @l

TEa™ BN |

(A) fyea w

(B) g-ORENT WS
(C) 3TN foie
(D) afhe st

(E) orana wed
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52

53

Which of the following statements is not
correct?

(A) ISI mark, BIS mark and Eco-mark are
issued by the Bureau of Indian
Standards.

BIS hallmark is given only to gold
jewellery.

India organic is a certification mark for
organically farmed food.

Bureau of Indian Standards is the
national standard body of India.

(E) Question not attempted

frrfafed & & dF-—a1 HIT q& T § 7

(B)
©)
D)

(A) emEugens #rh, ST " ST ST ",
AU AMe A g0 914 fhy o )

(B) SIoMESUE B@Hh %ad W % SN Bl
fean s 2

(C) 3fEar erfiife, Sfaw &9 § ST TT @
TgTelt i feaT S ATaT U JHIONeR T A & |

(D) 9RA™ AM® A, HRA B TLE AFD
e %

(E) emara gsd

Conduit pipes are normally used to protect

cables.

(A) Unsheathed

(B) Armoured

(C) PVC sheathed

(D) All of these

(E) Question not attempted

qifeet TIgl B IULNT AT HaA

@ gram & fog fear s §)

(A) &g

(B) emga

(C) dEmr omga

(D) ¥ |

(E) orana wed

54

55

Type of joint used for extending the length
of conductor in overhead lines is -

(A) Scarfed joint

(B) Aerial tap joint

(C) Britannia “T” joint

(D) L-joint

(E) Question not attempted

R @t § aree @l @95 B 9M H 0
fhg YR & TS @1 SYANT fRaT ST & °

(A) whrhe e

(B) ufe 20 g
(C) fafmr <& wire
(D) L-warge

(E) organa wed

Transmission voltage of 11 kV is normally
used for distances up to

(A) 20 — 25 km
(B) 40 — 50 km
(C) 60 — 70 km

(D) 80 — 100 km
(E) Question not attempted
11 kV & X0 9™ &1 ITAnT aHmaa:

T @ gt & fore fmar wmar #)
(A) 20 — 25 km
(B) 40 — 50 km
(C) 60 — 70 km
(D) 80 — 100 km
(E) orana wed
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56

57

Which of the following is not a characteristic
of LED?

(A) Fast action

(B) High Warm-up time

(C) Low operational voltage
(D) Long life

(E) Question not attempted

freafoiad  § -4 Tess! o Th fqeran T8
g7

(A) o fomam

(B) =@ aM-3 w9
(C) T dawe e
(D) waT e

(E) organa wed

In wiring system, the cheapest and simple
method is

(A)
B)
©)
D)
(E)

TrEafaT faey ¥ 999 9wl iR o fafr sear
T?

(A) e amErar

(B) = amEfan

(C) w= HEcs T

(D) =T R BT At
(E) omara gsd

Cleat wiring

Batten wiring

Lead concealed wiring
Wooden casing capping wiring

Question not attempted

58

59

Sweep of ceiling fan refers to :

(A) Speed of the fan

(B) Voltage of the fan

(C) Double the length of the blade
(D) Diameter of circle formed by its rotation
(E) Question not attempted

B % U@ B W@ B R 57

(A) dE@ @ T

(B) Y€ &I ares

(C) s 1 v 1 A

(D) zas ol g i g @ @
(E) organa wed

What can be the maximum number of
members in the Council of Ministers of
Rajasthan Government?

(A) 28
(B) 30
(C) 32
(D) 35
(E)
TR TR o Hwhufiug o e o siftenad
T T T FhAl & P

(A) 28

(B) 30

(C) 32

(D) 35

(E) erara gsd

Question not attempted
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60 The 74th Amendment Act of the Constitution

61

has made provision for which of the
following?

1. Ward Committees

2. District Planning Committee

3. Reservation of Seats

4. Finance Commission

Select the correct answer using the codes
given below :

(A) 1 and 4

(B) 1,2 and 3

(C) 1,2,3 and 4

(D) 3 and 4

(E) Question not attempted

dfaam & 749 denee sifafem # Frefatea o
Y fpeer yrau fomam T § 7

1. o affeat

2. e aeem affa

3. @rel @ STRE

4. faa omam

I T U B w1 YA B I IR GAT ¢
(A) 13T 4

B) 1,233

(C) 1,2, 3 34

(D) 3 iR 4

(E) organia wed

Who is the author of Rajasthani literature
‘Suraj Prakash’?

(A) Kishordas

(B) Ashiya Mansingh

(C) Karnidan Kaviya

(D) Kaviraj Shyamaldas

(E) Question not attempted
USRI | &b GO GBI % @D DA & °
(A) fepstrETE

(B) enfyran "R

(C) woiie™ wian

(D) wfats samaeETE

(E) orana wed

62

63

64

In which month is the Hariyali Teej festival
celebrated?

(A) Bhadrapad Mah

(B) Shravan Mah

(C) Kartik Mah

(D) Falgun Mah

(E) Question not attempted

T AT 1 W he 918 § F9™ S 8 ?
(A) wEYg H1E

(B) smaor |#1E

(C) s wmE

(D) e |1E
(E) orana wed

‘Pachhevada’ refers to -
(A) Turban

(B) Apparel

(C) Jewellery

(D) Folk dance

(E) Question not attempted
RETCI I

(A) @

(B) dftam

(C) e

(D) @ g

(E) orgafa ged

Rajasthan Water-Area Restructuring Project
was started on —

(A) April 4, 2003

(B) May 7, 2007

(C) January 9, 2009

(D) December 12, 2006

(E) Question not attempted

TR S & QAaeT el &l IiH &
gome

(A) s@ 4, 2003

(B) =g 7, 2007

(C) et 9, 2009

(D) feg=R 12, 2006

(E) orana wed
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65

66

‘Yellow Revolution’ is associated with —
(A) Cotton

(B) Rice

(C) Mustard (Oilseeds)
(D) Wheat

(E) Question not attempted
Urell i B T § -
(A) ®IE °

(B) =maw &

(C) =t & (foaeie)

(D) R H

(E) organa wed

An electric current of 5 A is the same as -
(A) 51J/C

(B) 5V/C

(C) 5 C/sec

(D) 5 W/sec

(E) Question not attempted
5A @ faga g

(A) 5J/C

(B) 5V/C

(C) 5 C/sec

(D) 5 Wi/sec

(E) orana wed

% TOST B

67

68

Ohm’s law is not applicable to
(A)
B)
(®)
(D)
(E)
& @1 e

(A) 4. |fee

(B) sw gt

(C) B giiga®

(D) & amih

(E) ergara gsd

D.C. circuits
High currents
Small resistors
Semi-conductors

Question not attempted

X AN el e

Which of the following IE rules stands for
“Danger Notices™?

(A) IE Rule 45
(B) IE Rule 43
(C) IE Rule 35
(D) IE Rule 42
(E)

frefefag & @ fpe omE € Fraw @1 a1d (TR
ifeq” &2

(A) o fram 45
(B) &g § fram 43
(C) o3 frm 35
(D) og 3 Frm 42

(E) orana wed

Question not attempted
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69

70

Ground resistance should be designed such
that -

(A)

(B)

©)

(D)
(E)

Grounding resistance should be as low
as possible.

Grounding resistance should be as high
as possible.

Grounding resistance should be always
Zero.

None of these

Question not attempted

q Uiy &l fhe g fesie fepar sT atfey ?

(A)
(B)
©)
D)
()

q Ui §9a &1 Sa JAaH &1 aIe |
o gy §99 & I stfesad g TRl
q e I 9T BT aTfed |

T W By T

SN U9

An example of non-ohmic resistance is

71 Series and parallel combination of the solar
cell is known as

(A) Solar array

(B) Solar light

(C) Solar sight

(D) Solar eye

(E) Question not attempted
TR A @1 9ol 3R Wi Hars a1 HEdr & 7
(A) €T

(B) € waiat

(C) ¥R 3

(D) @R o

(E) ergara gsd

72 Which type of soldering flux is used for
soldering galvanised iron?

(A) Rosin

(A) Diode (B) Zinc chloride
(B) Tungsten wire (C) Sal ammonia
(C) Carbon resistance (D) Hydrochloric acid
(D) Copper wire (E) Question not attempted
(E) Question not attempted Heafid ST & Aest T & U [6E THR &
—aig wfy &1 Sare T 2 Hiesftn weg @1 IuanT femar s # 7
(A) sdrE (A) AR
(B) ¥®H dr (B) &® FREs
(C) e wiere (C) | sk
(D) HMMT X (D) wrEgEIRE 3
(E) orgafed aed (E) orgafed wed
SPACE FOR ROUGH WORK / T% &1 % fog wrre
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73

74

The purpose of 'serving' layers in underground
cable is to -

(A)
(B)
©)
D)

protect the cable from moisture
protect the cable from mechanical injury
protect metallic sheath against corrosion

protect armouring from atmospheric
conditions

(E) Question not attempted

AT had W AT URd @1 FT I599 8 7
(A) &S@ H EAT § FAM

(B) %a@ &l Tife &fd § sam

(C) urfes STERT @l ST | ST

(D) sTmaRer & gataxeny Rufeat & s@mn

(E) organa wed

In transmission lines the cross-arms are made
of -

(A)
(B)
©
(D)
(E)
Hoer Y@met # e o fhed s e ¥ P
(A) »

(B) st

(C) emedrn

(D)

(E) orana wed

Copper
Wood
R.C.C.
Steel

Question not attempted

75

76

Average resistance of human body is -

(A) 500 kQ
(B) 1000 Q
() 1500 kO
(D) 2000 kQ

(E) Question not attempted
AqE SR @1 efed gy fohda s &7

(A) 500kQ
(B) 1000 Q
() 1500kQ

(D) 2000 kQ
(E) organa wed

Starters are required in a D.C. motor because-
(A) These motors are having high starting
speed.

(B) These motors are not self-starting.
©)

(D)

These motors have high starting torque.

To restrict armature current as there is
no back emf at starting.

(E) Question not attempted

. AR ¥ W @ agashal i el § 7

(A) 37 9= B ifHe Tfq SumeT g §

(B) ¥ X Gg ¢ Tl Bl

(C) 3 Al &1 omifHer Fargel 39 ram 5|

(D) &y ® u9d STAUE % 7 BN o BT STHEX
g B SIUd B b A

(E) orana wed
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77

78

Which thinker advocated the idea of abolition
of the post of District Magistrate ?

(A) Deendayal Upadhyaya
(B) M. N. Roy

(C) Ram Manohar Lohia
(D) Jawaharlal Nehru

(E) Question not attempted

fpa feaames & @m0 Riereher & 98 & g9 fu
W % foar & gemea @ TS ?

(A) eI IUTEATH
(B) wH. . T
(C) ™ AR afEar
(D) SR TE

(E) organa wed

What is the first stage of risk assessment?
(A) Exposure assessment

(B) Hazard identification

(C) Toxicity study

(D) Risk characterization

(E) Question not attempted
SiRew fFreiRer &1 geen =xor T B e
(A) wudh iz

(B) @l @I qed &I

(C) faurerran sremg=

(D) sifgw afE-fasm

(E) omara gsd

79

80

The equipment used to protect the scalp,
face and neck from overhead spills of acid
is-
(A)
(B)
©)
(D)
(E) Question not attempted

Y, T8¢ 8l T @l T & [@ug § 9N &
fou fpe SumTer &1 Suan feman wam &7

(A)
(B) gam T
(C) =&
(D) =™

(E) ergara gsd

Mask
Safety helmet
Gloves

Goggles

Which of the following is not a part of
regulated D.C. power supply?

(A) Rectifier
(B) Filter

(C) Oscillators
(D)
(E) Question not attempted
frrtaRad & @ Mo FrEta SLE. aer awg
I L E i

(A) YerRwmrET

(B) fheex

(C) aifeTex

(D) e

(E) emara gsd

Regulator
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81

82

Which wiring is recommended only for
temporary installations?

(A) Cleat

(B) CTS/RTS

(C) Metal

(D) PVC conduit or PVC capping
(E) Question not attempted

hae ST WAl & {0 B amfar &
goE e st g7

(A) e

(B) wrwa/emtéa

(C) wea

(D) drErETr Hfse ar dEmEr ST

(E) organa wed

The main purpose of hazard identification is-
(A)
(B)
©)
D)
(E)
GAL B TEATA B I SeeT HIT 8 7

(A) 9o Y9 B HH H HH HAT

(B) wiifgw & g dea¥ weed &

(C) whafew & fquda yara & awiied &L

(D) =T B 1 WHIEAT Bl BH B

(E) omara gsd

To minimise the effect of a consequence
For better risk management

To characterize adverse effect of toxins
To reduce probability of occurrence

Question not attempted

83

84

Which effect is produced, if the current is
passed through a conductor?

(A)
(B)
©)
(D)
(E)

gfe 9T & Td § H YO AT 8, Al e
THIE BT B 7

(A) TS gaa
(B) feraedfae gv@
(C) wEmaie® g9
(D) T ¥ BE T
(E) ergara ged

Thermal effect
Electrostatic effect
Chemical effect
None of these

Question not attempted

On which factor the capacity of a cell
depends?

(A)
(B)
©)
(D)
(E)
A B g fore e uX R wear 2 7
(A) < % § @& g

(B) 99TH® W @I ATl

(C) =oTH® < B Al

(D) W= F THR

(E) erara gsd

Distance between plates
Material of positive plate
Material of negative plate
Size of plates

Question not attempted
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85

86

Which soldering method is used to solder
underground cable joints?

(A)
(B)
©)
D)
(E)

AT had & SISl Bl Aest B & WY 6
restor faftr & suan feman wan &7

(A) feu @refar
(B) wrestar emae fafy
(C) Ul 3R wsad fafy
(D) ws= weshar fafy
(E) organa wed

Dip soldering

Soldering iron method
Pot and ladle method
Machine soldering method

Question not attempted

Which metal is used to make soldering iron
bit?

(A)
B)
©)
D)
(E)

esfin o 92 s &% fau fed org @
SUART foRaT STar ¥ 7

(A) drE
(B) €«
(C) ==
(D) X

(E) omara gsd

[ron
Steel
Brass
Copper

Question not attempted

87

88

Which electrolyte is used in lead acid battery?
(A) Diluted hydrochloric acid

(B) Concentrated ammonium chloride

(C) Concentrated potassium hydroxide

(D) Diluted sulphuric acid

(E) Question not attempted

WS GRS SO | fohE soagiaEe & Suan fear

ST §

(A) AP TSNS ST
(B) @i% SHifE wiEs
(C) wim gl wEgieEs
(D) TIFd TR o
(E) organa wed

Which type of distribution is suitable for
commercial wiring of multistoried flats?

(A) Looping out with junction
(B) Looping out with swit
(C) Bus chamber

(D) Ring main system

(E) Question not attempted

TEHINET Wi @ AEHIaE i & fog fhe
YHR HT faaeer Sfaq & 7

(A) @™ % d1g qriT e
(B) fae & @y T smee
(C) =g T

(D) f&r 59 faeew

(E) orana wed
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89

920

In which cities in Rajasthan are two
1800 MW solar parks being built?

(A) Jodhpur and Barmer
(B) Jaisalmer and Bikaner
(C) Jaipur and Bikaner
(D) Jaisalmer and Barmer

(E) Question not attempted

ORI @ oot 92 & 1800 MW @& & €K Urh
AT ST R B 7

(A) STEgR & qreaT
(B) SE@E iR S
(C) YR $ AR
(D) FEemr 3T Tt
(E) organa wed

CFL means

(A) Combustible fluoride lamp
(B) Compact fluoride lamp
(C) Compact fluorescent lamp
(D) Combustible fluorescent lamp
(E) Question not attempted
AUk ud. &1 qof ' T T 7

(A) HHERESE FIES o

(B) ®ae FRES o

(C) B FIEE T

(D) wrfedd wEe o

(E) omara gsd

91

92

What is the purpose of the ELCB?

(A) Control the fault circuit current

(B) Protect the residual current

(C) Protect the equipment from overload
(D) Protect the circuit from short circuit
(E) Question not attempted

SUAHIST HBT FT Se9T & 7

(A) IV Gihe 9 B BT BT

(B) om@Efite gy & sam

(C) SUHIO Bl ATHR & ST

(D) ¢ @fbe & wfbe @l s@m™

(E) organa wed

Which is rechargeable cell?
(A) Voltaic cell

(B) Carbon zinc cell

(C) Lead acid cell

(D) Mercury cell

(E) Question not attempted
HA-| Y & a0 BT Ard q 8 7
(A) diwerEs 4

(B) wrew TS o

(C) w= U &

(D) =X &

(E) orana wed
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93

94

Which wire is used to connect inverter and
battery?

(A) PVC 1.5 sgqmm copper wire
(B) Special auto wire

(C) PVC 2 sgmm aluminium wire
(D) PVC 2.5 sgqmm copper wire
(E) Question not attempted

T iR T & Sew % fou e ar &
IyaTT feRar ST B °

(A) 9= 1.5 sqgmm BT dR
(B) @™ affer ar

(C) 4 2 sqmm TgRFEE ar
(D) 9™ 2.5 sqmm HUX IR

(E) organa wed

When the cells are connected in parallel, then
(A)
B)
©
D)
(E)
W YW B GHIGK | weT W@ ¥, a9
(A) era ¥ ghg grar 2|

(B) omT "t Bl

(C) Suvuw & gfig &xit &)

(D) 3UAU = B

(E) omara gsd

The current increases.
The current decreases.
The emf increases.
The emf decreases.

Question not attempted

95

96

An instrument used for measuring total solar
radiation is called :

(A) Hygrometer

(B) Pyranometer

(C) Anemometer

(D) Pyrheliometer

(E) Question not attempted

Fa ar faferer & 7w % o fee Suswte &
IUThT fopam S 3 7

(A) =TI
(B) wgtHex
(C) THHERR
(D) urgEfeaRT
(E) organa wed

When did Jalaluddin Khilji attack

Ranthambhore?

(A) 1286

(B) 1291

(C) 1290

(D) 1292

(E) Question not attempted

TATGEN Raastt o T0rerdX UX He SThATT foRar
qr?

(A) 1286
(B) 1291
(C) 1290
(D) 1292

(E) orana wed
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97

98

Which Bikaner ruler accepted Akbar’s
sovereignty in the Nagore Darbar in 1570
A.D.?

(A) Rao Chandrasen

(B) Rao Rai Singh

(C) Rao Kalyanmal

(D) Rao Amar Singh

(E) Question not attempted

feh ST e ¥ 1570 3. F AR @R A
B D AT WD B 7

(A) TE TEET

(B) a waRdE

(C) TE HmwHd

(D) @ mIRE

(E) emara gsd

Match the Dynasty in Column I with Founder
in Column II.

Column 1 Column II
(Dynasty) (Founder)
1. Rathore a. Vasudev
2. Chauhan b. Seeha
3. Jat ¢. Dulharai

4. Kachchhawaha d. Churaman
Choose the most appropriate option from
below:

(A) 1-d, 2-c, 3-b, 4-a

(B) 1-b, 2-c, 3-a, 4-d

(C) 1-a, 2-b, 3-d, 4-c

(D) 1-b, 2-a, 3-d, 4-c

(E) Question not attempted
i 1 o Trorast @ wew I H demus 9 fem
BT |

Hied 1 Fiem 11
(TrTEsT) (¥reamaer)

1. TerE a. dGed
2. deM b. T

3. W C. TJUE{™
4. HIBATE d. ggm
7 9 o 9e9 Suge fawed -
(A) 1-d, 2-c, 3-b, 4-a

(B) 1-b, 2-c, 3-a, 4-d

(C) 1-a, 2-b, 3-d, 4-c

(D) 1-b, 2-a, 3-d, 4-c

(E) orana wed

929

100

Earth or ground wire is made of -
(A)
(B)
(®)
(D)
()
- fored &1 Brar & °
(A) B

(B) €

(©) ema

(D) feata €

(E) organa wed

Copper

Gold

Iron

Galvanized Steel

Question not attempted

The basic laws for analyzing an electric circuit
are :-

(A)
B)
©)
(D)
(E)
ferega @fthe @1 faseror B & Sfre frem wm 2
(A) omERTE &1 Regid

(B) =z & fram

(C) fpears & Frem

(D) %= % Fraw

(E) ergara gsd

Einstein’s theory
Newton’s laws
Kirchhoff’s laws
Faraday’s laws

Question not attempted
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101

102

In which famous Fort are the ancient cannons
named Kilkila, Zamzama and Nusrat kept
safe?

(A) Churu Fort

(B) Nahargarh Fort

(C) Mehrangarh Fort

(D) Taragarh Fort

(E) Question not attempted

fepetfenal, STHSTT Td JaXd M e ad foee
foema gt & gl wir ¥ 2

(A) & @1 fopet
(B) “mwEwTE g
(C) ¥exrrre g
(D) arwE g

(E) organa wed

Kho-Dariba mines are known for
(A) Copper

(B) Iron-ore

(C) Zink

(D) Lead and Zink

(E) Question not attempted
gr-aan @ % fg S S 2
(A) e

(B) wie—orawh

(C) &

(D) & o s

(E) orana wed

103

104

In which of the following districts of
Rajasthan, Red loam soils are found ?

(A) Udaipur and Ajmer

(B) Dungarpur and Udaipur
(C) Jaisalmer and Bikaner
(D) Alwar and Bharatpur
(E) Question not attempted
o & Frefeted i foaal o @ gee frst
R ST S 7

(A) TG &R ST

(B) YT &K ITAL

(C) SHeR 3R sk

(D) @weR S HTayy

(E) ergara ged

Beas Project is a joint project of
states.

(A)
(B)
©)
D)
(E)
1 g T4t Bl wgeR afEeT
.

(A) dUsTrE, T, TR

(B) T, UWE, e

(C) TN, o, SAX YasT

Punjab, Haryana, Rajasthan
Rajasthan, Punjab, Gujarat
Rajasthan, Gujarat, Uttar Pradesh
Punjab, Uttar Pradesh, Rajasthan

Question not attempted

(D) USE, ST WS9T, o™

(E) orana wed
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105

106

In which of the following places the Petro-
Chemical Refinery Complex is established
in western Rajasthan?

(A)
B)
©)
(D)
(E) Question not attempted

freafaiad o | wfverl oA & e wWE W
U-wied  (Tg-Ematm) el wiad
v fomam ¥ 7

(A) Ugusq

(B) ®H@m™d

(C) ==l

(D) Taawrer

(E) organa wed

Pachpadra
Kolayat
Bhadla
Rawatbhata

Chandrabhaga Pashu Mela is organised near

Jhalawar
Tonk

Ajmer

(A)
B)
©
(D)
(E)
THHTT Ug] HaAl
fopar <mam 71
(A) Hrerars
(B) 2i®

(C) &Y
(D) sEgR

(E) emara gsd

Jaipur
Question not attempted

% STl SIS

107

108

The full form of BIS is -

(A) Board of Indian Standard
(B) Bureau of Indian Standards
©)
(D)
(E) Question not attempted
o omg TH @1 qUT w9 7 T 7
(A) = o feaw wse
(B) = aifw ifeaw weda
(C) dIE &fh TTHIFA Wss
(D) A &Ik FTHINA W
(E) organa wed

Board of International Standard

Bureau of International Standard

What is the name of the tool?

(A)
(B)
©)
(D)
(E)

39 TA BT AW R/ E?

Wire stripper
Crimping tool
Screwdriver

Diagonal cutting pliers

Question not attempted

ST —l
I~

(A) TR fgux

(B) fopfidr o

(C) Uuwd

(D) SHUTE &HET @ET
(E) omara gsd
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109 The rate of flow of an electric charge is

110

known as -
(A)
(B)
©
(D)
(E)
el oMAeT & WA @ 3T T BEAN & 7
(A) foga am

(B) fawaiax

(C) whray

(D) s

(E) ergara gsd

Electric Current
Potential difference
Resistance

Voltage

Question not attempted

The thickness of the layer of the insulation
on the conductor, in cables depends upon -

(A)
(B)
©)
D)
(E)

HEd § e 9T UL B T B [ hg
frd & 7

(A) i stfery
(B) sifR o

(C) diees

(D) oW aTEd e

(E) emara gsd

Reactive power

Power factor

Voltage

Current carrying capacity

Question not attempted

111

112

The purpose of dynamo in an Electric Vehicle
is -
(A)
(B)
©

Act as reservoir of electrical energy
Stop supply of electric power

Prevent from conversion of mechanical
to electrical energy

(D)

(E) Question not attempted

foea amedt # SRl @ w1 IR T?

(A) faEa wotf & e & &9 & &R &

(B) fea sifm &t emafa &1 T

(C) =it ot & forga Heit & ufafda & &
BT

(D) @MEAR U & At BT

(E) organa wed

Continually recharge the battery

Allow the current to flow from the alternator
to the battery but not in the opposite direction
by the use of -

(A) Diode
(B) Triode
(C) Capacitor
(D)
(E) Question not attempted

ot & 9 foraer ST @ ST tIeX & 28 7 g
TaTE HI ST "hRA ¢ Uig UET fquda feen 7 @
fopam ST denar ?

(A) =mrE

(B) zmErE

(C) HuRex
(D) Fgax

(E) orana wed

Insulator
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113

114

container of an acid is much more
hazardous than a closed container of the same
material.

(A) Dry

(B) Open

(C) Close

(D) Wet

(E) Question not attempted
3T BT HeTY, TG R & G T
q Hel e A o

(A) qar

(B) g

(C) d=

(D) i

(E) emgara gsd

The number of electrical degrees passed
through in one revolution of a four pole
synchronous alternator is -

(A) 360°

(B) 720°

(C) 1440°

(D) 2880°

(E) Question not attempted
IR I THDBID ST % T o | et
Prep et wrr B 37

(A) 360°

(B) 720°

(C) 1440°

(D) 2880°

(E) orana wed

115

116

C.T. and P.T. are used for

(A)
B)
©)
(D)

Measuring low current and voltages
Measuring very low current and voltages
Measuring high currents and voltages

Measuring intermediate currents and
voltages

(E)
3. ot A &1 IugnT fohg T fepa s &2
(A) T amr &R diees 7w % fog

(B) wgd 7 9m0 &iX A A & fog
(C) S=a 9 8RR des A9 % fog

(D) weFerit 9mq ofX st A9 & fog

(E) ergara gsd

Question not attempted

Which is the color code of warning signs?
(A)
(B)
©)

White symbol on blue background
White symbol on green background

Red border and cross bar, black symbol
on white

(D) Yellow background with black border

and symbol
(E)
TAEA Hehdl BT HAL BIS FAT BT &7
(A) Il JHUES 9 qHE Hohdl
(B) ! YHUEE 9T 9%e Hobd
(C) T WX T qisT 3R Hid A, BIAT Gobd
(D) @ 9iex iR fued & @y 9iar SHuss

(E) orana wed

Question not attempted
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117 The flux commonly used on brazing is:

(A) Zinc chloride

(B) Ammonium chloride
(C) Resin plus alcohol
(D) Borax

(E) Question not attempted

ST o gETaa: ford woe @1 U fRam S

37

(A) 5% wiREs

(B) amiftEm FiEs
(C) I iR srwnied
(D) s

(E) orgafa wed

118 Resistance of a superconductor is -
(A) Zero
(B) Infinite
(C) 1 ohm
(D) 10 ohm
(E) Question not attempted

sTfcraTee @1 g
(A) =

(B) &Ha

(C) 1 3w

(D) 10 am

(E) emara gsd

BT B

119

120

Mobility of free electrons is greater than that
of holes because -

(A) They are light.
(B) They mutually collide less.

(C) They require low energy to continue the
motion.

(D) They carry negative energy.
(E) Question not attempted

TRt A @1 T Sed ¥ arfue @l el
¥?

(A) 9 &= B B
(B) 9 U q@ § FH THI R

(C) == 7ifa & & % foTq | Tootl I A vdehdt
Bl B

(D) o HUMEE Holl BT T8 B ¢

(E) orana wed

Which among the following is not an
insulator?

(A) Wool

(B) Plastic

(C) Silver

(D) Paper

(E) Question not attempted
frfafed & § BF-—a1 Tgerex 78 &7
(A) &

(B) wiiea

(C) faeer

(D) R

(E) organa wed
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